Puzzles

1. You have three baskets filled with fruits. One has mangoes, one has bananas, and the third has a
mixture of mangoes and bananas. You cannot see the fruit inside the baskets. Each basket is clearly
labelled. Each label is wrong. You are permitted to close your eyes and pick one fruit from one basket,

then examine it. How can you determine what is in each basket?

Solution:

Observe the table:
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Pick up a fruit from the basket labelled Mangoes and Bananas. If the fruit is banana then we must be
certain that that box contains only Bananas as it must not contains Mangoes and Bananas mixture. Now
from the table possbile combinations of remaining two baskets can be seen. Basket 1 should not contain
Mangoes but contain Bananas / Mango and banana mixture. But we already confirmed that basket 3
contains all bananas. So basket 1 must have mangoes and bananas mixture. Basket 2 must contain
Mangoes.

Similary logic we can apply for the scinario if we pick up Mango.

So The fruit must be picked up from the basket labelled Mangoes and Bananas mixture

2. You have 26 consonants, labelled A through Z. Let A equal 1. The other constants have values equal
to the letter’s position in the alphabet, raised to the power of the previous constant. That means that B =
2t, Cc = 32" ... and so on. Find the exact numerical value for the following expression:

X-A)Xxx-B)x(x-C)x ... X-Y)x(X-2)
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Solution:
X is the twenty - fourth letter of the alphabet. The constant X must equal 24 raised to the power of the

previous constant, W. Since W is the twenty - third letter, W equals 23 to the power of U, which is 22 to

1

21
the power of T, which is 21 to the power of ...[1 X = 2423”
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What all this means is that X is going to be 24 raised to the power of 23 to the power of 22 to the power
of 21 ... and so on, all the way upto 3 to the power of 2 to the power of 1. That's 23 nested

exponentiations. X is a very big number.

However the correct answer is zero. Among the 26 terms which are being multiplied, there will be (X -
X). Which is 0. Hence answer is 0. It doesn’t matter what all the other terms are. Multiply anything by 0
and you get 0.

3. You have a bag full of feathers of three colours - red, green&nd blue. With your eyes closed, you
have to reach the bag and take out two feathers of the sam@Jcolour. How many feathers do you have to
take to be certain of getting two of the same colour ? \g(()

Q

Four. Pick just three feathers, and it's possible yo@'ave one of each colour and therefore no match.

Solution:
With four feathers, at least two have to be of saﬁf?colour.

4. Five robbers have one hundred gold c9ﬁ§co split among themselves. They divide the coins as follows
: The senior robber proposes a division@nd everyone votes on it. Provided that at least half the robbers
vote including himself for the proposal i.e, he has to get 50% of the votes, they split the coins that way.
If not, they kill the senior robber and start over. The most senior (surviving) robber proposes his own
division plan, and they vote by the same rules and either divide the coins or kill the senior robber, as
the case may be. The process continues until one plan is accepted. Suppose you are the senior robber.

What division do you propose ? (The robbers are all extremely logical and greedy, and all want to live.)

Solution:

Initially you may think that, the coins should be divided equally or apportion more coins for

other robberers so that the senior may save his skin. But we follow a smart approach to solve this puzzle
Assume there is only one robber. Then he votes himself so he gets 100% of the votes and takes all the
100 coins.

If there are two robbers, D and E. Say D is senior. In this case D votes for himself and gets 50% of
votes and takes all coins. Observe If D is the senior E gets nothing.

If there are 3 robbers, C, D and E. Say C is senior. Now C has to get atleast one more vote to survive.

As his votes consists only 33.33% of total votes. He thinks like this. If D is the senior, E gets nothing. So



let us offer "One gold coin" to E. Now E obviously votes for C Because, if D is the senior, he gets
nothing.

If there are 4 robbers, B, C, D, and E. B has to get the support of atleast one robber to achieve his 50%
vote target. He thinks like this, If C is the senior, B gets nothing. So He offers one coin to D and gets his
support

If there are 5 robbers, A, B, C, D and E. A has to get atleast two more votes to survive. If D is the
senior, C and E both gets nothing. So he offers one coin each to get their votes and keep remaining 98

coins with him. Very interesting. is it not?!

5. There is an old bridge over river Ganga. Four people wants to cross the bridge at night. Many plants
are missing, and the bridge can hold only two people at a time (any more than two, and the bridge
collapses). The travellers must use a torch to guide their steps; otherwise they’re sure to step through a
missing space and fall to their death. There is only one torch. The four people each travel at different
speeds. Sharukh can cross the bridge in one minute; Aamir in two minutes; Salman takes five minutes;

and the slowest person, Saif, takes ten minutes. The bridge is&ing to collapse in exactly seventeen

minutes. How can all four people cross the bridge? QO
&
Solution: Q\%/
Round - trip one: The fastest pair, Sharukh and A cross, taking two minutes. One of them (let’s say

Sharukh - it doesn’t matter) immediately returns@kh the torch (one minute). Elapsed time: there
minutes. Qf

éif, cross taking ten minutes. As soon as they reach the

Round - trip two : the slow pair, Salman an
farside of the bridge, they hand the torc the faster person who is already there. (That's Aamir,
assuming that Sharukh returned in the first round - trip). Aamir returns the torch to the nearside (two
minutes). Elapsed time : fifteen minutes.

Final, one - way trip : the fast pair is now reunited on the nearside. They cross for the second and last

time (two minutes). Elapsed time : seventeen minutes.

6. You have two candles. Each will burn for exactly one hour. But the candles are not identical and do
not burn at a constant rate. There are fast-burning sections and slow-burning sections. How do you

measure forty-five minutes using only the candles and a lighter?

Solution:

At time zero, light both ends of candle A and one end of candle B. The candles must not touch each
other. It takes thirty minutes for candle A’s two flames to meet. When they do, there is exactly thirty
minutes left on candle B. Instantly light the other end of (still-burning) candle B. The two flames will

now meet in fifteen minutes, for an elapsed time of forty-five minutes.



7. One of your female employees insists on being paid daily in silver. You have a silver bar whose value
is that of seven days’ salary for this employee. The bar is already segmented into seven equal pieces. If
you are allowed to make just two cuts in the bar, and must settle with the employee at the end of each

day, how do you do it ?

Solution:

You need a one-unit piece to pay the employee for the first day’s work. You lop one unit off the end and
hand it to the employee.

This leaves you with a six - unit bar and one more permitted cut.

Cut off a two - unit piece. At the end of the second day, you hand over the two - unit piece to the
employee and get the one - unit piece back as change. (You have to assume that the employee hasn’t
already spent it.)

This leaves you with a four - unit bar, the one - unit piece you got in change, and no more cuts. On the
third day, you return the one - unit piece. On the fourth day, you hand over the four - unit piece and

get the two smaller ones as change. Use them to pay the worlfgyon the fifth, sixth, and seventh days.

QO
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8. Five men crash-land their airplane on a deserted is in the South Pacific. On their first day they
gather as many coconuts as they can find into onebitpile. They decide that, since it is getting dark,
they will wait until the next day to divide the coco@ﬂts.

The night each man took a turn watching foré{%e searchers while the others slept. The first watcher
got bored so he decided to divide the coco into five equal piles. When he did this, he found he had
one remaining coconut. He gave this coc t to a monkey, took one of the piles, and hid it for himself.
Then he jumbled up the four other piles into one big pile again.

To cut a long story short, each of the five men ended up doing exactly the same thing. They each
divided the coconuts into five equal piles and had one extra coconut left over, which they gave to the
monkey. They each took one of the five piles and hid those coconuts. They each came back and jumbled
up the remaining four piles into one big pile.

What is the smallest number of coconuts there could have been in the original pile?

Solution:

Assume total humber of Coconuts are N.

When these coconuts are divided into 5 equal parts one is remaining so N = 5A+1 (Here A is number of
cococonuts in the smaller pile)

After given one coconut to monkey and has taken first man his share, then 4A coconuts are remaining.
When the second person did the same thing to the remaining coconuts we can write

4A=5B + 1

4B = 5C +1



4C
4D

5D +1
5E +1

Now Add 4 to the both sides
N+4 =5A+ 1 +4 = N+4 =5 (A+1)

5
4A+ 4 =5B+ 1 +4 > 4(A+1)=5(B+1):>(A+1)=ZX(B+1)

5
4B+4=5C+1+4 = 4(B+1)=5(C+1):>(B+1)=ZX(C+1)

5
4C+4 =50 +1+4 = 4(C+1) = 5 (D+1) = (C+1)= 2 x(D+1)
5
4D +4=5E+1+4 > 4(D+1):5(E+1)=>(D+1)=ZX(E+1)
5 <&
Now N +4 =5 (A +1) = 5x 2 x(B+1) C)O

Similarly we can substitute remaining values in this equ@c@n SO
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5 5 5 5
N+4=5x"x_x_x(E+1)
44 4 4

We know that N is an intezer so E +1 must %multiple of 4*. The N+4 = 5°
SoN =5 -4=3121

9. A woman took a certain number of eggs to the market and sold some of them. A next day, through
the industry of her hens, the number left over had been doubled, and she sold the same number as the
previous day.

On the third day the new remainder was tripled, and she sold the same number as before.

On the fourth day the remainder was quadrupled, and her sales were the same as before.

On the fifth day what had been left over were quintupled, yet she sold exactly the same as on all the
previous occasions and so disposed of her entire stock.

(i) What is the smallest number of eggs she could have taken to market the first day?

(if) How many did she sell daily? (The answer is not zero).

Solution:

Let us make small table to understand this question clearly.



X
x -y)2
(2x - 3y)3
(6% -10yM
(24x - 41y)5

e i o B

Right hand columns tells us the number of eggs sold.

103
Number of eggs remaining = (24x—41ly)x5-Y =0 = 120x—206Y =0 = X 0
y

10. Doo-Bee-Doo had born on 1468 B.C. He had lived one-fourth of his life as a boy, one-third of his
life as a youth, one-fifth of his life as a man and the remaining 52 years as an old man. Which year did
Doo-Bee-Doo die?

Solution:

X X

X
Z+ I+ +52=x
4 3 5

13x
> —— =52 = x =210

60 é}
C?
Year of Death = 1468BC - 240 = 1228 BC ( In BC the n%»fi;year is 1 year less than the previous year)
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